KOLAR Document ID: 1308095

Confidentiality Requested:

Yes No

Kansas Corporation Commission Oil & Gas Conservation Division

Form ACO-1
January 2018
Form must be Typed
Form must be Signed
All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

| OPERATOR: License # | API No.: |
|---|--|
| Name: | Spot Description: |
| Address 1: | SecTwpS. R East West |
| Address 2: | Feet from North / South Line of Section |
| City: | Feet from East / West Line of Section |
| Contact Person: | Footages Calculated from Nearest Outside Section Corner: |
| Phone: () | □NE □NW □SE □SW |
| CONTRACTOR: License # | GPS Location: Lat:, Long: |
| Name: | (e.g. xx.xxxxx) (e.gxxx.xxxxxx) |
| Wellsite Geologist: | Datum: NAD27 NAD83 WGS84 |
| Purchaser: | County: |
| Designate Type of Completion: | Lease Name: Well #: |
| New Well Re-Entry Workover | Field Name: |
| | Producing Formation: |
| ☐ Oil ☐ WSW ☐ SWD | Elevation: Ground: Kelly Bushing: |
| ☐ Gas ☐ DH ☐ EOR | Total Vertical Depth: Plug Back Total Depth: |
| ☐ OG ☐ GSW | Amount of Surface Pipe Set and Cemented at: Feet |
| ☐ CM (Coal Bed Methane)☐ Cathodic☐ Other (Core, Expl., etc.): | Multiple Stage Cementing Collar Used? Yes No |
| | If yes, show depth set: Feet |
| If Workover/Re-entry: Old Well Info as follows: | |
| Operator: | If Alternate II completion, cement circulated from: |
| Well Name: | feet depth to: w/ sx cmt. |
| Original Comp. Date: Original Total Depth: | |
| ☐ Deepening ☐ Re-perf. ☐ Conv. to EOR ☐ Conv. to SWD | Drilling Fluid Management Plan |
| Plug Back Liner Conv. to GSW Conv. to Producer | (Data must be collected from the Reserve Pit) |
| Commingled Permit #: | Chloride content: ppm Fluid volume: bbls |
| Dual Completion Permit #: | Dewatering method used: |
| SWD Permit #: | Location of fluid disposal if hauled offsite: |
| EOR Permit #: | · |
| GSW | Operator Name: |
| | Lease Name: License #: |
| Spud Date or Date Reached TD Completion Date or | QuarterSecTwpS. R East West |
| Recompletion Date Recompletion Date | County: Permit #: |

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

| KCC Office Use ONLY |
|---|
| Confidentiality Requested |
| Date: |
| Confidential Release Date: |
| Wireline Log Received Drill Stem Tests Received |
| Geologist Report / Mud Logs Received |
| UIC Distribution |
| ALT I II Approved by: Date: |

KOLAR Document ID: 1308095

Page Two

| Operator Name: _ | | | | Lease Name: | | | Well #: | | |
|--|---------------------|-----------------------|--------------------------------|-----------------------|---------------------------------|---|---|--|--|
| Sec Twp. | S. R. | E | ast West | County: | | | | | |
| | flowing and shu | ut-in pressures, v | vhether shut-in pre | ssure reached st | atic level, hydrosta | tic pressures, bot | | val tested, time tool erature, fluid recovery, | |
| Final Radioactivity files must be subm | | | | | | iled to kcc-well-lo | gs@kcc.ks.gov | v. Digital electronic log | |
| Drill Stem Tests Ta | | | Yes No | | | on (Top), Depth ar | | Sample | |
| Samples Sent to 0 | Geological Surv | /ey | Yes No | Na | me | | Тор | Datum | |
| Cores Taken Electric Log Run Geologist Report / List All E. Logs Ru | _ | | Yes No Yes No Yes No | | | | | | |
| | | B | CASING eport all strings set-c | | New Used | ion, etc. | | | |
| Purpose of Strir | | Hole illed | Size Casing Set (In O.D.) | Weight Lbs. / Ft. | Setting Depth | Type of Cement | # Sacks Used | Type and Percent Additives | |
| | | | | | | | | | |
| | | | | | | | | | |
| | | | ADDITIONAL | CEMENTING / SO | UEEZE RECORD | | | | |
| Purpose: | | epth T Bottom | ype of Cement | # Sacks Used | Jsed Type and Percent Additives | | | | |
| Perforate Protect Casi Plug Back T | | | | | | | | | |
| Plug Off Zor | | | | | | | | | |
| Did you perform a Does the volume Was the hydraulic | of the total base f | fluid of the hydrauli | | _ | = | No (If No, sk | ip questions 2 an ip question 3) out Page Three | , | |
| Date of first Product Injection: | tion/Injection or R | esumed Production | Producing Meth | nod: | Gas Lift 0 | Other (Explain) | | | |
| Estimated Production Per 24 Hours | on | Oil Bbls. | | | | | Gas-Oil Ratio | Gravity | |
| DISPOS | SITION OF GAS: | | N | METHOD OF COMP | LETION: | | | DN INTERVAL: Bottom | |
| | Sold Used | I on Lease | Open Hole | | | mmingled mit ACO-4) | Тор | BOROTT | |
| , | , | | | B.11 B1 | | | | | |
| Shots Per Foot | Perforation Top | Perforation Bottom | Bridge Plug Type | Bridge Plug Set At | Acid, | Fracture, Shot, Cer (Amount and Kind | menting Squeeze I of Material Used) | Record | |
| | | | | | | | | | |
| | | | | | | | | | |
| | | | | | | | | | |
| | | | | | | | | | |
| TUBING RECORD: | : Size: | Set | Δ+- | Packer At: | | | | | |
| TODING RECORD: | . 3126. | | n. | i donei Al. | | | | | |

| Form | ACO1 - Well Completion |
|-----------|---------------------------|
| Operator | Merit Energy Company, LLC |
| Well Name | A.I. Watkins 20-2 |
| Doc ID | 1308095 |

All Electric Logs Run

| 7.11 2.13 5.11 5 1 2 3 5 1 tal. |
|--|
| |
| ANNULAR HOLE VOLUME LOG 5 CASING |
| ARRAY COMPENSATED TRUE RESISTIVITY 1 LOG |
| ARRAY COMPENSATED TRUE RESISTIVITY 2 LOG |
| ARRAY COMPENSATED TRUE RESISTIVITY 5 LOG |
| ARRAY RESISTIVITY SPECTRAL DENSITY DUAL SPACED NEUTRON BOREHOLE SONIC QUAD COMBO LOG |
| BOREHOLE COMPENSATED SONIC LOG |
| MICROLOG |
| SPECTRAL DENSITY DUAL SPACED NEUTRON LOG |

| Form | ACO1 - Well Completion |
|-----------|---------------------------|
| Operator | Merit Energy Company, LLC |
| Well Name | A.I. Watkins 20-2 |
| Doc ID | 1308095 |

Tops

| Name | Тор | Datum |
|---------------|------|-------|
| HEEBNER | 4140 | |
| TORONTO | 4162 | |
| LANSING | 4236 | |
| IOLA | 4403 | |
| MARMATON | 4819 | |
| PAWNEE | 4934 | |
| CHEROKEE | 4987 | |
| ATOKA | 5256 | |
| MORROW | 5296 | |
| CHESTER | 5414 | |
| STE GENEVIEVE | 5514 | |

| Form | ACO1 - Well Completion |
|-----------|---------------------------|
| Operator | Merit Energy Company, LLC |
| Well Name | A.I. Watkins 20-2 |
| Doc ID | 1308095 |

Casing

| Purpose Of String | Size Hole Drilled | Size Casing Set | Weight | Setting Depth | Type Of Cement | | Type and Percent Additives |
|----------------------|----------------------|-----------------------|--------|------------------|-------------------|-----|----------------------------------|
| Surface | 12.25 | 8.625 | 24 | 1542 | Class A | | See Attached |
| Production | 7.875 | 5.5 | 17 | 5643 | 50/50 Class A | 300 | See Attached |
| | | | | | | | |
| | | | | | | | |



| Field Ticket Number: Lib1602111215 | | | Field Ticket Date | 21 | | Thursday, Febru | uary 11, 2016 | |
|--|---|---|--|---|---|---|--|---------------------------------------|
| BIII To: MERIT ENERGY COMPANY Liberal, KS 67901 P O Box 1293 / 1900 W 2nd St | | Job Name: Well Location: Well Name: Well Number: Well Type: Rig Number: Shipping Point: Sales Office: | | 01 Surface Haskell, KS A.I. Watkins 20-2 New Well Liberal, KS Mid Con | TP- 1 | TD-1542 TP-1536 SJ-42.18 IPC-8518 | | |
| PERSON | | | _ | | FO | | | Angel |
| Aldo Espinoza Ramon Escarcega | Lenny Bae Jose Calde | | | 549-501 868-642 | EQU | JIPMENT 744 | | |
| | | SERVICES - S | SERVICES - | | | ** | | |
| Description | QIV | (40)4 | Hall And | Gross Amt | Had Net | Discussi | Net Assou | |
| PUMP, CASING CEMENT 1001-2000 FT | 1.00 | min. 4 hr | 2,213.75 | 2213.75 | 774.81 | 65.0% | | 774.81 |
| CMLP | 1.00 | per day | 275.00 | 275.00 | 96.25 | 65.0% | | 96.25 |
| PHDL | 664.00 | per cu. Ft. | 2.48 | 1646.72 | 0.87 | 65.0% | | 576.35 |
| DRYG | 1452.00 | ton-mile | 2.75 | 3993.00 | 0.96 | 65.0% | | 1,397.55 |
| MILV | 50.00 | per mile | 4.40 | 220.00 | 1.54 | 65.0% | | 77.00 |
| MIHV | 50.00 | per mile | 7.70 | 385.00 | 2.70 | 65.0% | | 134.75 |
| FLOA | T EQUIPME | NT FLOA | T EQUIPM | ENT FLO | DAT EQU | IPMENT | | |
| GS-8,625 | 1.00 | each | 460.00 | 460.00 | 207.00 | 55.0% | | 207.0 |
| SSFC-8.625 | 1.00 | each | 1,214.00 | 1,214.00 | 546.30 | 55.0% | | 546.30 |
| CEN-8.625 | 15.00 | each | 75.00 | 1,125.00 | 33.75 | 55.0% | | 506.25 |
| TRP - 8.625 | 1.00 | each | 131.00 | 131.00 | 58.95 | 55.0% | | 58.95 |
| | MA | TERIALS - IV | TATERIALS | - MATER | IALS | | · | |
| | 1 | bbl | 0.00 | 0.00 | 0.00 | 65.0% | Carlo De Mar Maria Carlo | 0.00 |
| CB-AMDAL | 385.00 | sack | 26.57 | 10,229.45 | 9.30 | 65.0% | | 3,580.31 |
| CA-100 | 1086.00 | pound | 1.10 | 1,194.60 | 0.39 | 65.0% | | 418.11 |
| CLC-CPF | 97.00 | pound | 2,97 | 288.09 | 1.04 | 65.0% | si [®] | 100.83 |
| CCAC | 175.00 | sack | 17.90 | 3,132.50 | 6.27 | 65.0% | | 1,096.38 |
| CA-100 | 329.00 | pound | 1.10 | 361.90 | 0.39 | 65.0% | | 126.67 |
| CLC-CPF | 44.00 | pound | 2.97 | 130.68 | 1.04 | 65.0% | | 45.74 |
| ADD | ITIONAL ITE | MS - ADDI | TIONAL ITE | MS - AD | DITIONAL | ITEMS | | i i i i i i i i i i i i i i i i i i i |
| Additional hours, in excess of set hours | 10.07.6776 | per hour | 440.00 | 0.00 | 154.00 | 65.0% | | 0.00 |
| Allied Rep Customer Agent: This output does NOT include taxes. Applicaple s | | | Equ M Add | ervices Total lipment Total aterials Total ditional Items Final Total | Gross 8,733.47 2,930.00 15,337.22 0.00 27,000.69 | Discount 5,676.76 1,611.50 9,969.19 0.00 17,257.45 | Final 3,056.71 1,318.55 5,368.03 0.00 9,743.24 | |
| Sustomer hereby acknowledges receipt of the mathave read and understand the "GENHRAL TER | erials and services d MS AND CONDITI | escribed above and o ONS" listed on the j | on the attached doc following page. Field Ticket Total | | ſ | ş | 9,743.24 | |



Field Ticket Number: Lib1602141300

Bill To:
MERIT ENERGY COMPANY
Liberal, KS 67901
P O Box 1293 / 1900 W 2nd St

Field Ticket Date:

Sunday, February 14, 2016

| Job Name: | 02 Production/Long String |
|-----------------|---------------------------|
| Well Location: | Haskell, KS |
| Well Name: | A.I Watkins |
| Well Number: | #20-2 |
| Well Type: | New Well |
| Rig Number: | DUKE#9 |
| Shipping Point: | Liberal, KS |
| Sales Office: | Mid Con |

TD 5645 TP 5443.60 SJ 43.77 Pipe 51/2 Hole 77/8/

| PERSON | . EQUIPMENT | | | | | | | |
|--|---------------|---|------------|---------------|----------|----------|------------|--|
| Lenny Baeza | Ramon Esca | rega | 955-554 | | | 994-541 | | |
| Edgar Rodroiguez | | | | | | | | |
| | | SERVICES - | SERVICES - | SERVICES | • | | | |
| Description | (Q) Y | 1 uew | Unit Ant | Gross And | Unit Net | Becaunt | Net Ameunt | |
| PUMP, CASING CEMENT 5001-6000 FT | 1.00 | min. 4 hr | 3,099.25 | 3099.25 | 1,022.75 | 67.0% | 1,022.7 | |
| CMLP | 1.00 | per day | 275.00 | 275.00 | 90.75 | 67.0% | 90.7 | |
| PHDL | 373.00 | per cu. Ft. | 2.48 | 925.04 | 0.82 | 67.0% | 305.2 | |
| DRYG | 783.00 | ton-mile | 2.75 | 2153.25 | 0.91 | 67.0% | 710.5 | |
| MILV | 50.00 | per mile | 4.40 | 220.00 | 1.45 | 67.0% | 72.6 | |
| MIHV | 50.00 | per mile | 7.70 | 385.00 | 2.54 | 67.0% | 127.0 | |
| FLOA | T EQUIPME | NT FLOA | T EQUIPMI | ENT FLO | AT EQUII | PMENT | | |
| GS-5.5 | 1.00 | each | 281.00 | 281.00 | 126.45 | 55.0% | 126.4 | |
| SSFC-5.5 | 1.00 | each | 725.00 | 725.00 | 326.25 | 55.0% | 326.2 | |
| CEN-5.5 | 25.00 | each | 57.00 | 1,425.00 | 25.65 | 55.0% | 641.2 | |
| TRP - 5.5 | 1.00 | each | 85.00 | 85.00 | 38.25 | 55.0% | 38.2 | |
| | MA | TERIALS - N | NATERIALS | - MATERIA | ALS | | | |
| CW-HVS | 12.00 | bbl | 58.70 | 704.40 | 19.37 | 67.0% | 232.4 | |
| CB-ASA | 225.00 | sack | 23.50 | 5,287.50 | 7.76 | 67.0% | 1,744.8 | |
| CFL-210 | 106.00 | pound | 18.90 | 2,003.40 | 6.24 | 67.0% | 661.1 | |
| CLC-KOL | 1125.00 | pound | 0.98 | 1,102.50 | 0.32 | 67.0% | 363.8 | |
| CLC-CPF | 57.00 | pound | 2.97 | 169.29 | 0.98 | 67.0% | 55.8 | |
| CB-ASA | 50.00 | sack | 23.50 | 1,175.00 | 7.76 | 67.0% | 387.7 | |
| CFL-210 | 24.00 | pound | 18.90 | 453.60 | 6.24 | 67.0% | 149.6 | |
| CLC-KOL | 250.00 | pound | 0.98 | 245.00 | 0.32 | 67.0% | 80.8 | |
| CLC-CPF | 13.00 | pound | 2.97 | 38.61 | 0.98 | 67.0% | 12.7 | |
| ADD | ITIONAL ITE | MS - ADDI | TIONAL ITE | MS - ADD | ITIONAL | ITEMS | | |
| Additional hours, in excess of set hours | in the second | per hour | T . | 0.00 | I. | 67.0% | 0.0 | |
| Perrick Charge | 1.00 | per event | 577.50 | 577.50 | 190.58 | 67.0% | 190.5 | |
| Jan Er | - | The brown was a second of the | 1 | | Gross | Discount | Final | |
| // | | | S | ervices Total | 7,057.54 | 4,728.55 | 2,328.99 | |

Allied Rep Customer Agent:

2,516.00 1,383.80 Equipment Total 1,132.20 Materials Total 3,689.17 11,179.30 7,490.13 Additional Items 577.50 386.93 190.58 Final Total 21,330.34 13,989.41 7,340.93

This output does NOT include taxes. Applicaple sales tax will be billed on the final invoice.

Customer hereby acknowledges receipt of the materials and services described above and on the attached documents.